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Notes / Tips :

Starting every row at first (3dc) comer.

1st row of dc replaced with hdc, chl instead of chain 2 for nicer finishes.
Finished the last chain of the row with invisible join/seam method.

There is no rules to start with which block first. But if you are more discipline or to avoid confusing, start from

the bottom left in round and working upward.

1

2
3.
4

Stitch Symbols Abbreviation

3 double crochet (3dc) cluster

N

0
(ol

slip stitch (slst) - new row starting point

2 double crochet together (2dctog)

invisible seam - end of the row

ch-3 picot

chain (ch)

=

not a stitch, red line showing where the two

stitches of squares to be join together

single crochet (sc)

+

(joint as you go at last row of the square)

half double crochet (hdc)

T

f

double crochet (dc)




